30000

25000

20000

15000

10000

5000

{000

6000

5000

4000

3000

2000

1000

Run 5510 mpswise, accO: All

- Enilries: 262720

Mean: 92206 +- 0.0141

Sid Dz T.0999 4 00100

0 3 10 20
AccO/MNACcD
Run 5510, mpswise, acc0: Beam ON, Laser ON
Entries: 141881

Mean: 15.4450 /- 00026

Sid Drey: 09620 - 00078

10 12 14 16 18
AccQiNAccD

00

600

500

400

300

200

100

3000

2500

2000

1500

1000

500

Run 5510 mpswise, acc(: Beam OFF

Enlries: 1TAES

Mean: 0U068T +- 0.0DDT

Sid Drev: L0927 4l 0.0005

||J_I_II|

0.4 0.5
AccliNAccD

Run 5510, mpswise, accO: Beam ON, Laser OFF

Eniries: 74445

Mean: 1. 4378 +- 0010

Sid Dev: OG22 - 0.0007

I B T

2.5
AcciNACcD




Y
—
=

[

Run 5510 mpswise, BCM: All
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Run 5510 mpswise, lasPow: All Run 5510 mpswise, lasPow: Beam OFF
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Run 5510 mpswise, bpmAx: All
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Run 5510 mpswise, bpmAy: All
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Run 5510 mpswise, bpmBy: All
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Run 5510 mpswise, beam ON, laser ON
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Run 5510 mpswise, beam OFF, laser ON
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Run 5510 mpswise, beam OFF, laser OFF
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Run 5510 mpswise, beam ON, laser ON Run 5510 mpswise, beam ON, laser OFF
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Run 5510 mpswise, beam OFF, laser ON Run 5510 mpswise, beam OFF, laser OFF
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Run 5510 mpswise, beam ON, laser OFF
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Run 5510 mpswise, beam ON, laser ON
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Run 5510 mpswise, beam ON, laser OFF
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